ﬂh Matching Inequalities to Numberlines Name:

Solve each problem.

1) Which option best shows X < 17

15 16 17 18 19
A =——adt—O0—F+—"

15 16 17 18 19
B. 4+—t+—@—F+—

15 16 17 18 19
C. 4+—F—O—t=———rtip

15 16 17 18 19
D. 4+———O——H

3) Which option best shows X > -4

7 -6 5 -4 -3 -2
A.

7 -6 5 -4 -3 -2
B.

7 -6 5 -4 -3 -2
C. ¢—F——O—t—h

7 -6 5 -4 -3 -2
D.

5) Which option best shows X > -7

10-9 -8 -7 -6 -5 -4
A. ¢ ———O———1

10-9 -8 -7 -6 -5 -4
B. ¢———@ b

109 -8 -7 6 -5 -4
4+—F—F—O0——>

109 -8 -7 6 -5 -4
4+— >

7) Which option best shows X < 11

8 9 10 11 12 13 14
A. ¢t O—|—F—

8 9 10 11 12 13 14
B.

8 9 10 11 12 13 14
C.

8 9 10 11 12 13 14
D. 4—+—1—@—+—+—>

2)

4)

6)

8)

Which option best shows X < 10

8 9 10 11 12 13
A. ¢——t—OQ——F—

8 9 10 11 12 13
B.

8 9 10 11 12 13
C.

8 9 10 11 12 13
D. ¢— —@—t——dteulp

Which option best shows X < -17

-20-19-18-17-16-15-14
A +—t——0—1+—1—

-20-19-18-17-16-15-14
B. ¢4+—t+—1—@1+—+—

-20-19-18-17-16-15-14
“4+—F——O——+

-20-19-18-17-16-15-14
4+—t—— Ot

Which option best shows X < 2
0O 1 2 3 4 5

A.

O 1 2 3 4 5
B.

O 1 2 3 4 5
C.

O 1 2 3 4 5
D.

Which option best shows X < -17

-20 -19 -18 -17 -16 -15
A ¢+—t—1—0—1—

-20 -19 -18 -17 -16 -15
B. ¢+—t—"—@—1—

-20 -19 -18 -17 -16 -15
+— 1Ot

-20 -19 -18 -17 -16 -15
—F 1t

Answers

[ Math ] www.CommonCoreSheets.com

1-8 [88]75]|63|50/38[25[13] 0 |




=

Matching Inequalities to Numberlines Name:

Answer Key

Solve each problem.

1)

3)

5)

7)

Which option best shows X < 17

15 16 17 18 19
A =——adt—O0—F+—"

15 16 17 18 19
B. 4+—t+—@—F+—

15 16 17 18 19
C. 4+—F—O—t=———rtip

15 16 17 18 19
D. 4+———O——H

Which option best shows X > -4
-7 6 -5 -4 -3 -2

A.

7 -6 5 -4 -3 -2
B.

7 -6 5 -4 -3 -2
C.

7 -6 5 -4 -3 -2
D.

Which option best shows X = -7

10-9 -8 -7 -6 -5 -4
A. ¢ ———O———1

10-9 -8 -7 -6 -5 -4
B. ¢———@ b

109 -8 -7 6 -5 -4
4+—F—F—O0——>

109 -8 -7 6 -5 -4
4+— >

Which option best shows X <11

8 9 10 11 12 13 14
A. ¢t O—|—F—

8 9 10 11 12 13 14
B.

8 9 10 11 12 13 14
C.

8 9 10 11 12 13 14
D. 4—+—1—@—+—+—>

2)

4)

6)

8)

Which option best shows X < 10

8 9 10 11 12 13
A. ¢——t—OQ——F—

8 9 10 11 12 13
B.

8 9 10 11 12 13
C.

8 9 10 11 12 13
D. ¢— —@—t——dteulp

Which option best shows X < -17

-20-19-18-17-16-15-14
A +—t——0—1+—1—

-20-19-18-17-16-15-14
B. ¢4+—t+—1—@1+—+—

-20-19-18-17-16-15-14
“4+—F——O——+

-20-19-18-17-16-15-14
4+—t—— Ot

Which option best shows X < 2
0O 1 2 3 4 5

A.

O 1 2 3 4 5
B.

O 1 2 3 4 5
C.

O 1 2 3 4 5
D.

Which option best shows X < -17

-20 -19 -18 -17 -16 -15
A ¢+—t—1—0—1—

-20 -19 -18 -17 -16 -15
B. ¢+—t—"—@—1—

-20 -19 -18 -17 -16 -15
+— 1Ot

-20 -19 -18 -17 -16 -15
—F 1t

Answers
1_B
2 B
3 C
a A
5 D
6. A
7. A
s A

[ Math ] www.CommonCoreSheets.com

1-8 [88]75]|63|50/38[25[13] 0 |




	Worksheet
	Answer Key

